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housing = strat train set.drop("median house value", axis=l)
housing labels = strat train set["median house value"].copy()
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General process flow

machine learning in Python

° Transform method for the data
processing routine

o-¢
1 ¥
e
Instantiate an estimator Feed estimator with input data
with parameters via fit method STD_SCALAR.transform(X_test);
[
» — E
[cLass]
STD_SCALAR = preprocessing.MinMaxScaler(); STD_SCALAR.fit(X_train);
LR = linear_model.LogisticRegression(); LR.fit(X_train, Y_train); ° Predict method for class or
magnitude prediction
fe9¢
o= -0
(B
o= -0
o- -0
84448

LR.predict(X_test);
LR.predict_proba(X_test);

<32 £X: Scikit-Learn: A silver bullet for basic machine learning>


https://medium.com/analytics-vidhya/scikit-learn-a-silver-bullet-for-basic-machine-learning-13c7d8b248ee
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« total_bedrooms E-/d0{ 20770 7+90]| Chgt X0 null= [YX UZ, F, L& Fof| chfst
L
X7} =2ts]
longitude latitude housing_median_age total_rooms [total _bedrooms | population households median_income ocean_p
4629 -118.30 34.07 18.0 3759.0 NaN 3296.0 1462.0 2.2708 <1k
6068 -117.86 34.01 16.0 4632.0 NaN 3038.0 727.0 5.1762 <1k
17923 -121.97 37.35 30.0 1955.0 NaN 999.0 386.0 4.6328 <1k
13656 -117.30 34.05 6.0 2155.0 NaN 1039.0 391.0 1.6675
19252 -122.79 38.48 7.0 6837.0 NaN 3468.0 1405.0 3.1662 <1k
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housing.dropna(subset=["total_bedrooms"])

housing.drop("total_bedrooms", axis=1)
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median = housing["total_bedrooms"].median()

housing["total_bedrooms"].fillna(median, inplace=True)

<ZM 3 &8>
longitude latitude housing_median_age total_rooms (total_bedrooms population households median_income ocean_p
4629 -118.30 34.07 18.0 3759.0 433.0 3296.0 1462.0 2.2708 <1+
6068 -117.86 34.01 16.0 4632.0 433.0 3038.0 727.0 5.1762 <1+
17923 -121.97 37.35 30.0 1955.0 433.0 999.0 386.0 4.6328 <1+
13656 -117.30 34.05 6.0 2155.0 433.0 1039.0 391.0 1.6675
19252 -122.79 38.48 7.0 6837.0 433.0 3468.0 1405.0 3.1662 <1+
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Simplelmputer F1&H7|

o &M 32 XIA3t= ALO|ZIE HetY|

o U S B LAE 850 £ HO|HE EF A= M2

from sklearn.impute import SimpleImputer

imputer = SimpleImputer(strategy="median")

housing num = housing.drop("ocean proximity", axis=l)
imputer.fit(housing num)
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2-3t 217 H(one-hot encoding)
o X3t HFS ArO|2] 27| H|WE 1|5t7| 2[sH E0|(dummy) S
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OneHotEncoder #igt7|
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In [68]: cat_encoder = OneHotEncoder (sparse=False)
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housing cat lhot = cat_encoder.fit transform(housing cat)

housing cat_ lhot

Out[68]: array([[l., 0., 0., 0., 0.],
(1., 0., 0., 0., 0.1,
[0., 0., 0., 0., 1.1,
[0., 1., 0., 0., 0.1,
(1., 0., 0., 0., 0.1,
r

[0., 0., 0., 1., 0.11)
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class CombinedAttributesAdder (BaseEstimator, TransformerMixin):
def init (self, add bedrooms per room = True):

def fit(self, X, y=None):
return self

def transform(self, X):



« BaseEstimator &:sto|muiziolEe] R XtSstol| 26t get_params() ,
set_params() HME XS

e TransformerMixin &%: fit_transform() A= 44

BaseEstimator TransformerMixin

CombinedAttributesAdder

<7121 0t0|C|0{ £X: Get the Most out of scikit-learn with Object-Oriented Programming>


https://towardsdatascience.com/get-the-most-out-of-scikit-learn-with-object-oriented-programming-d01fef48b448
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num pipeline = Pipeline([
('imputer', SimpleImputer(strategy="median")),
('attribs adder', CombinedAttributesAdder()),
('std scaler', StandardScaler()),

1)
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EY: num_pipeline &7
= M2 A H(columns): 1ist(housing_num)

HZ3 EM: OneHotEncoder &7
= H& 4 H(columns): ["ocean_proximity"]

num attribs = list(housing num)
cat_attribs = ["ocean proximity"]

full pipeline = ColumnTransformer ([

("num", num pipeline, num attribs),
("cat", OneHotEncoder(), cat attribs),

1)

housing prepared = full pipeline.fit transform(housing)



